Tableaux des Puissances de Dix (])

Multipliez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (J) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 0,001 0,01 0,1 0,0001
100 0,1 1 10 0,01
11 0,011 0,11 1,1 0,0011
76 0,076 0,76 7,6 0,0076
80 0,08 0,8 8 0,008
45 0,045 0,45 4,5 0,0045
X 0,0001 100 0,1 1000
47 0,0047 4700 4,7 47 000
82 0,0082 8 200 8,2 82 000
87 0,0087 8700 8,7 87 000
5 0,0005 500 0,5 5000
62 0,0062 6 200 6,2 62 000
X 0,01 10 0,001 10 000
75 0,75 750 0,075 750 000
55 0,55 550 0,055 550 000
71 0,71 710 0,071 710 000
65 0,65 650 0,065 650 000
100 1 1000 0,1 1000000
X 10 000 1000 0,1 0,01
28 280 000 28 000 2,8 0,28
60 600 000 60 000 6 0,6
24 240 000 24 000 2,4 0,24
30 300 000 30000 3 0,3
57 570000 57 000 5,7 0,57
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